A 2 o & A

Al A

‘:FOI ICT&HE =&XIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al Z At 7,270,412 16,690,903 A9,420,491
= 700,000
== 390,000
Al 6,180,412
AaHEd & JlgtEd 7,234,600 14,091,500 6,856,900
= 700,000
< 390,000
Al 6,144,600
ICTatY SEXIE 1,919,800 4,189,000 2,269,200
AOLEAIEI AIY 243t 34,800 51,500 A16,700
201 er23 | 18,000 34,500 216,500
01 At2teltl 3,000 4,500 21,500
OALDIEAIEl AME 2d 3t 3,000
03 A= SHI 15,000 30,000 15,000
OADIEAIEl &= ATHEA JiZ| 15,000
203 =4l 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
OAOIEAIE HRFE 1,800
308 AtXIEMSO0IE 15,000 15,000
18 SISO EAS A 15,000 15,000
OAOIEAIEIANG 22 15,000
=22 ER 28 1,046,500 1,718,000 2671,500
306 £= 1,046,500 1,718,000 671,500
01 2d= 1,046,500 1,718,000 671,500
OHFHE2HIHNER =2 1,046,500
ISHEHHAXIZEE SSASE (S HAEX) 452,000 550,000 98,000
306 E¢= 452,000 550,000 98,000
01 £g= 452,000 550,000 88,000
OTE=HEIHAXEEE 2EAIS 452,000
101 FXRD0|1Y KEH 2SAL(2HAER) 11,500 50,000 /38,500
306 £= 11,500 50,000 /38,500
01 £¢=2 11,500 50,000 /38,500
012!l X0 NAHEH 2SAS 11,500
Xt ICTOIL=HIOIE AR Of A (SIHEEXIH) 300,000 500,000 £200,000
306 £¢= 300,000 500,000 200,000
01 2d= 300,000 500,000 200,000
OXIS ICTOIcHIOE AT O EHatAL 300,000
HEHHASEHE 7= & 2SAL(SHAEXY) 50,000 50,000
306 EX= 50,000 50,000
01 £g= 50,000 50,000
ONIEIH A 2HE 7= & 2SS AH 50,000
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